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1. Let A=2, B=3, C=4, D=5, E=6. What isthe vaue of the following postfix expresson? ABC-D+/EA-
*C* (A)4(B)8(C)10(D) 12

2. F=X'yz+Xy'Z +Xyz +XyZ (A)xy+yz(B)xz+yz (C)yz+xzZ (D)yz +xz
3. (A) BASIC (B) Ddphi (C) Prolog (D) PASCL
4. 2 1T 2
(A) 10(B) 20(C) 30(D) 40
5. 3E (A) 00111100 (B) 00111101 (C) 00111110 (D) 00111111
6. (8.625),,=(8.5) X (A)2(B)4(C)8(D) 16
7.(-5) 6 2 (A) (000101), (B) (100101), (C) (111011), (D) (111010),
8. (101011001110), (A) (ACE)5 (B) (ADE)s5 (C) (ACF)y5 (D) (ADF)y6
9. I'manmemory 2:Regiser 3:cachememory 4:harddisk 5:flooy disk
(A) 23145 (B) 21345 (C) 32145 (D) 12345
10. CPU (A) Byte (B) Word (C) Record (D) File
1. digtd anaog
(A) Hub (B) Router (C) Modem (D) Multiplexer
12. ( ) 512K

(A) kilo bits per second (B) kilo bytes per second (C) kilo cycles per second (D) kilo meters per
second

13.

(A) Loca variables (B) Loca varidbles

(C) globd variables (D)
14. (Byte) (A)4(B)8(C)16 (D) 32 (bit)
15. (A) (B) © (D)
16. (A) Stack (B) Queue (C) Hegp (D) List
17. ( ) (A) 1A (B) PCI (C) AGP (D) EISA
18 (Topology)

(A) (bus) (B) (metrix) ©  (sa) (D)  (ring)
19. Data are stored temporarily on
(A) primary sorage  (B) secondary storage  (C) cold storage (D) printer devices
20. Magnetic tape has
(A) sequentid access and ransom access cgpabilities (B) sequentid access capability only
(C) random access capability only (D) neither sequentia access nor random access capabilities
21, biz (A) (B) © (D)
22,
(A)Hub  Switch (B) Router (C) Bridge (D) Repesater
23. WWW Browser
(A) Mosaic (B) Netscape Navigator (C) MS Internet Explorer (D) ping
24. IP Address

(A) 16323164 (B) 163.23.1.66 (C)163.23.10.254 (D) 163.23.10.259
25. Whichisaformat for vector graphics? (A) GIF (B) JPEG (C) TIFF (D) BMP
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26. (A) VAN (B) WWW (C) EFT (D) EDI
217. (A) LILO (B) FIFO (C) FIFO (D) LIFO
28. (A) graph (B) tree (C) table (D) stack
29.

(A) tree (B) graph (C) queue (D) link list
30. ASCII 100 (A)aB)b(C)c(D)d
31 (Hanoi Tower) 7

(A) 63 (B) 64 (C) 127 (D) 128
32. CPU (A) RISC (B) CISC (C) MCPU (D) SCPU
33.

(A) stack (B) queue (C) tree (D) array
3A. run time stack

time stack (A) globa variables (B) loca variables

© (D) (return address)
35.

(A) MO (B) CD-R (C) CD-ROM (D) JAZ
36.

(A) AGP(B) PCI (C) ISA (D) USB
37. (A) (B) © (D)
38.

(A) ROM (B) SRAM (C) DRAM (D) EDO RAM
39. (A) IDE (B) 34 pin (©) 72pin (D) 168 pin
40.

(A) MIC In(B) LineIn (C) Line Out (D) SPK Out
41. 168 pin (A) IDE (B) SCSI (C) SMM (D) DIMM
42. 0 1

(A) (B) (C) C++ (D) Java
43. (A) (B) © (D)

| (A) HTML (B) C CJva  (D)Word Excd
: @ (b)

©

run



(d) (A) dcab (B) dbed (C) deba (D) cdab
46.
(A) (B) © (D)
47.
(A) (B) © (D)
48. Which of the following programming language does not support object-oriented technology?
(A) Java(B) C++ (C) Fortran (D) Smdltak
49.
(A) (B) © (D)
50. The following bytes were origindly coded using odd parity. In which of them do you know that an
error has occurred?
(@ 10101101 (b) 11100011 (c) 10000111 (d) 00000000 (A) &b (B)bc(C)cd (D) da



